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ma Assignment ——

Complete pgs. 258 - 260

Questions 3, 6ac, 7, 9ab, 10,
13, 14, 16, 18, 19
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Solutions ———————————

3. Kxplain w‘\cﬁ' must be true Q‘ngﬁ' the
Smph of +he Qorrc—:spondmﬁ uncwhon
Cor a c_p,\cm dratic ec\buo-%- on
Nave ho coots.

For a qQu uodratic G:LLuoﬁon +o have no
real rco+s TS correspond graph
must ﬁem upword and 'hcwé(j Verﬂcx
above the x-axis ot gpen downward
and have a vertex below the ¥x-ax:s.

6. Factor

03 'nrx-?m-&-q (De
4

c
x2-4Eax +9) 4 x99 = 36
Ay (x - Q('X“”) 4 +-9= 13
(4 x— qw‘x

)
V+2) (3v+10)
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m Solutions -—,seeee———

7. dolve by 'FQC"roring-

Q) O=X*+10X + 21
O = (X+3)(x+71)
X+3=0 or X+1=0
X=-3 X ==
b) 1L m*+ 2m-5=0 -1 = % 1
- \ “
_Ll_(ml-s—%m—ze =0Q

I
L. (m+10)(M-2)=0

M+ I0=0 0r m'_Q):‘O
m=-10 I“ﬁ='2_,

) 5‘?1 + 13p -6 =0 (C’Dccomposi-}-ion)
2. =0 13 x=2 = -390
5%{9-’;-3)-2(19 +3)=0 1S +-2.= 13
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d)O=G6Gz*-21z+9
O= 3(22> T2 +3) (ﬁ)ecomgwr\ﬂon)
O=3(22212-62+3) -
O=3[(22% 11)(—@z+3)] =+ ===
O= 3[z2z-1)3(2=z-1)]
O=3(22-1(z=3)

9. Weite a %k‘:\qdra-!-nc equation n
Sﬁandard £t m with -Hwe chn roots.

a) 2 and 3

Ly (x=2)(x~-3)=0
X*2-3X-2x+ =0
X*-5X+6=

b) -1 and =35
¥>(Xﬁ- Y(x+5)=0

X2+SX +Ix+S5=0
X2+6X+S5=0
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m Solutions -—,seeee———

10. The pat+h of a paper airplane can
be modelled approximately bgj the
+unction h(t) = —_’:}Ltz-‘z—t +3, ‘Where h

IS The height above the qground, in
meters, and t is +he Tifge of ﬁiqh*’r,
in Seconds . Determine how longv
1+ taKes for the paper airplar
+o Hit the ground, he)=0.

-1+t +3=0

LJI.'

~1 (£*-4t-\0)=0

= - -
-1 (e+2)6) =0

i'.-_i.
+4+2=0 or +-6=0
t;-i +t=6
EX'!RSS%OUS

I+ TaKes 65 for the paper airplane
o hit +he ground. ‘
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m Solutions -—,seeee———

13. Determine +he value of K that
maKes each expression a perfect

SCLuQre +rinomial.
a) X*+4%x + K &ﬁfﬁ+@x+KJ

SO Co
= Lo K= g
K= 4

1N, Solve.Express YJOUT anSWErs Qs
exact values.

Q) 2x*-98=0
Ix*=98
& )
=49
~ = =49
x==T7
B (x+3)*=25
X4+ 5 = i\n?%ﬁg_
i =T, P
=-3%5
W==T"9 o A=-3%3
xX=-8 N = 3,
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m Solutions -eeseesee———
&) (x=5)*=2Y

X-=8 = T {24
xX=38 i\‘\J2‘—ﬁ' (we will SJrOphcrcForqgwj
d) (x—ﬂ)2 g,,
{'_5_
xX=1% |3
9
x= 1 {5

3
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Yy

Solutions ————sseee———

6. Th a simulation, the path of a new
aircraft offer i+ has achieved
\Ne\@hﬂessncss can be modelled
Gpp oxxmcﬂ-c: X h(t) = —5“*200-@"(%’50
where his +1t+ude of the
$\\“CFGF+ in mc+crs and £ s the

me m Scconds ’and WE\Sh‘\" essness
1S achieved. How lonqg does +he

g\ reraft +<:\He: o rerurn to the
Svound hEF)=07? Express your answer
1o theE nearest +enth of ‘a Second.

(B -—St"+2oc>t+cir150 O
+2- 40t —-1950 =0
+2-d0o+ =950
+2- 40+ +400 = 1950+ 400
(+-20)2 = 23 Q

+-20 = 2350
+ = 2o+\l 23350

t=20—2350 or +=20+J2350
1= 2985 +t= 63%8.5
63‘(“"%2_?0&18

The aircraft takes approximately
6% 5s +o return to the quund
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m Solutions -—,seeee———

18. Use +he discriminant "ro determine
‘Hhe hcx -ure Oof the voots for each

uaﬁmuc equation. Do not solve
e e:cLuQ-no

a) 2x*+\1Ix+3=0 a=2,b=1l,c=5
)= ':)Q‘“L‘*Q

=Q)* L%Z}(S)

f‘aﬁl‘a =0

Since @30, +Hhere are 2 real roots.

b) 4x*-4Xx+1=0 a=4,b=-4,c=4

D= Db*4ac
= (-4) —‘-}(‘—HUJ
= 1= N
=0

Since D=0, there s one real root
@) 3p*+6p +24=0 a=3,b=6,c=94
D=b-Hac
= (&)2-H(3) 2k
= B~ 2238
= =252

Since D<O, there are no real toots.
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m Solutions -—,seeee———

d) 4x*+4%x-17=0 q=4,b=4,c=-T

=b*ac

= () =4 (H)CT
=l +112

= 129

Since D>0, there are 2 real roots.

19. Use +he quadratic formula to
determing +he roots for each

C(%er'{]‘l‘l(: SQuaTion . TXpress your
answers asd €Xacdt values.
1 ~3X2-2X+9=0 a=-3,b=-2,C=5

X=-pt \]?-LLQ._Q

= 2.+ (-2)" =HE3)XE)
pIEN,

= 2EN4Y +60

= D F\g4%

=23
-G

X= 28 QOr X=24%F
—b —G

xX= =@, xX= 410
6 -0

X=4 e~
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m Solutions =-b———

b) 5%+ 7x+1=0 a=5,b=T,c=1
x=-bt\{p*Hac"

(‘1) %(SQLJ

X=="1X_ Ct 2.0

x=:~iu;§§:
Ye)

C) Sx*-4x-1=0
X=-bt b’j—jg_c’
X=4t \

%_H)"%B)Zli
xX= 3t Jl+12
42:8

a=3, b=-4% c=-1

d) 25%*+ 90X +81=0 Q=25,b=90,C=81
A== b*xibi—-L}oC

= —qo+ \qu) —(25Y(8A)
2.(25)
x==-90% {§100 = §100

efe
X="90xJO
SO
X= —9Q

-—9 90
Ladiilh -
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